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-84 (05E)
206,8703x1Hx 12 2,483
—522224(1958)
204,860 ¥ 15 *27 5,632
-5 (1388)
192,803 »1H»27 5,206
—52U222E(953)
184,502 x1H x 12 2,216
—52U222H(653)
178,0473x1Hx27 4,808
[2ZH(2Z 1) 48,432 60,574 A12,142
Jl2&dI(2& 1) 48,432 60,574 A12,142
201 L2 | 38,560 41,7A A3,234
01 ArR22teltl 29,670 32,124 A2,454
OAIRIDI2ZHI(BH)
2376003 x5E! x 122 14,256
QRE2RA=SZ(EY) 200,000& =123 2,400
OJIEI2YH|(ZNH) 7,830,000& 7,830
OstZ N HRFX SHI(BH)
5,184,000& 5,184
02 33=24H| 8,890 9,670 AT780
OLldHe fERZ3 2,000& *5002] 1,000
O&IIN=SI BEE= 1,000,000 *3CH 3,000
OHEIIXSI M= 130,000 *3CH 390
(OFSPIPNE NI EIN s ]
1,500,000 & *3CH 4,500
202 Ot 3,600 11,000 AT,400
01 =WO4 bl 3,600 11,000 AT,400
OBZI BLAR S (5Y)
300,000 x 18+ 123 3,600
203 AR F=&lh| 6,272 7,780 A1,508
03 Al Z=AIHSZXY| 2,000 2,500 AB00
OZJt0at &2 =& 2,000,000& 2,000




SN &2
M HH2AHH(SHZN
ool J1=2dI(2H2 1) (S &)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
04 RA2LHRFEH 4,272 5,280 1,008
ORN2ZHRFLH 4,272,000 4,272
HRas(2dn 869,429 2,309,075 1,439,646
SPSPNES 869,429 2,309,075 A1,439,646
LHRHHXIE 869,429 2,309,075 A1,439,646
701 JIEt2l HISEES 869,429 2,309,075 A1,439,646
01 JIEtI AN ES 869,429 2,309,075 A1,439,646
O=ZNESENH HES
869,429,000 14 869,429




